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QUESTION 1

Your database is open and running in ARCHIVELOG mode. You take RMAN full backups every Sunday
night. On Monday morning, while querying the user1.employees table, you receive the following error
message:

01578: ORACLE data block corrupted (file # 5, block # 51) ORA-01110: data file 5:
'fu01/app/oracle/oradata/orcl/example01.dbf'

You need to rectify the corruption while ensuring the following:
The data file should remain online.
The mean time to recover (MTTR) should be minimal.

You are not using a backup control file, and all the archived logs are accessible. Which option would you
choose?

flash back the corrupted blocks

use the DBMS_REPAIR package

use the RMAN TSPITR command

use the RMAN BLOCKRECOVER command

use the RESTORE DATABASE and RECOVER DATABASE commands

investigate the time at which the corruption occurred and perform a point-in-time recovery

mmoow>»

Correct Answer: D

QUESTION 2

A database is running in ARCHIVELOG mode. It has two online redo log groups and each group has one
member. A LGWR 1/O fails due to permanent media failure that has resulted in the loss of a redo log file
and the LGWR terminates causing the instance to crash.

Which method should be used to efficiently recover from this loss of the current group member?

A. Restart the database; it would automatically re-create the corrupted redo log member.

B. Restore the corrupted redo log group, perform incomplete recovery, relocate by renaming the member
of the damaged online redo log group to a new location, and then open the database with
RESETLOGS.

C. Restore the corrupted redo log member, perform incomplete recovery, relocate by renaming the
member of the damaged online redo log group to a new location, and then open the database with
RESETLOGS.

D. Restore whole database backup, perform incomplete recovery, relocate by renaming the member of
the damaged online redo log group to a new location, and then open the database with the
RESETLOGS option.

Correct Answer: D

QUESTION 3
There was media failure and you need to check the data files for any block corruption. Which option would
you use to create a report on any corruptions found within the database?

the DBNEWID utility

the DBVERIFY utility

the ANALYZE command

the RMAN REPORT command

the RMAN CROSSCHECK command

the CHECK_OBJECT procedure of the DBMS_REPAIR package
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Correct Answer: B

QUESTION 4
You are using Oracle Database 10g. Which statement regarding an incomplete recovery is true?

A. You do not need to restore all the data files.

B. You do not need to open the database with the RESETLOGS operation.

C. You do not need to perform a full backup after the RESETLOGS operation.

D. You do not need to recover all the data files to the same system change number (SCN).

Correct Answer: C

QUESTION 5

You set the value for the CONTROL_FILE_RECORD_KEEP_TIME initialization parameter to 7. Which two
records in the control file of the database are circularly reused for storage because of using this
parameter? (Choose two.)

backup records
data file records
archive log records
tablespace records
redo thread records

moowp»

Correct Answer: AC

QUESTION 6
You executed the following command at the command prompt:

$ rman TARGET sys/oracle@ad10g CATALOG rmanusr/rmanusr@as10g SCRIPT backup_whole

Which three statements are true regarding this command? (Choose three.)

A. The backup_whole script is stored in the target database.

B. The backup_whole is a stored script in the recovery catalog.

C. The RMAN session terminates automatically after the execution of the command.
D

. The backup_whole script is executed automatically after the successful connection to the recovery
catalog only.

The command produces an error because the RMAN script cannot be executed from the command
line.

F. The backup_whole script is executed automatically after the successful connection to target and
catalog database.

m

Correct Answer: BCF

QUESTION 7

You have configured and registered your target database in a recovery catalog. Because the application
needs it, you created a new tablespace in the target database. Then you executed the following command
from an RMAN session after connecting to the target and catalog databases, both:

RMAN> REPORT SCHEMA,;

Which statement describes the operation performed?

A. The target database instance transfers the updated information to the recovery catalog.

B. The command shows the information from the control file of the target database and recovery catalog is
synchronized with the target database after the command is executed.

C. The media manager transfers the schema details from the control file of the target database to the
recovery catalog.
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D. The recovery catalog will be updated by RMAN with the updated information in the control file of the
target database and displays information about the database files.

Correct Answer: D

QUESTION 8
Your database is functioning in ARCHIVELOG mode. In which two situations would you perform a cancel-
based recovery? (Choose two.)

A. You find that one of the redo log members in each redo log group is lost.

B. You find that a data file that belongs to the USERS tablespace is damaged.

C. You find that a data file that belongs to the SYSTEM tablespace is damaged.

D. You find that the current redo log group is damaged and is not available for recovery.

E. You realized while performing a recovery that an archived redo log file needed for recovery is lost.

Correct Answer: DE

QUESTION 9
Users in your production database complain that they are getting the following error message while trying
to insert rows into the ORDERS table:

ERROR at line 1:
ORA-01654: unable to extend index USERS.ORDERS_IND by 8 in tablespace INDEXES

While investigating, you find that the INDEXES tablespace has run out of space and there is no more free
space on the disk where the data files are available.

Which two actions could you perform to overcome this error without affecting the queries that are currently
being executed? (Choose two.)

A. drop and re-create the index

B. coalesce the ORDERS_IND index

C. coalesce the INDEXES tablespace

D. drop and re-create the ORDERS table

E. rebuild the index online and move it to another tablespace

Correct Answer: BE

QUESTION 10
You lost the index tablespace in your database. You are not able to use tablespace point-in-time recovery
on the index tablespace. What could be the reason for this?

The index tablespace contains bitmap indexes.

The index tablespace contains more than one data file.

The index tablespace supports only complete recovery.

The index tablespace is not a dictionary-managed tablespace.
There is a dependency relationship between a table and its indexes.

moow»

Correct Answer: E

QUESTION 11
Last night, a media failure caused the loss of a temporary file that belongs to your database. Which two
things may happen this morning when you try to open your database? (Choose two.)

A. The database opens normally.

B. The database prompts for a database recovery.

C. The database writer writes to a trace file, indicating that the temporary file is not found.

D. The database gets mounted and throws an error indicating that the temporary file requires recovery.
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Correct Answer: AC

QUESTION 12
You executed the following query:

SELECT operation, undo_sql, table_name
FROM flashback_transaction_query;

Which statement is correct regarding the query output?

It would return information regarding only the last committed transaction.

It would return only the active transactions in all the undo segments in the database.

It would return only the committed transactions in all the undo segments in the database.

It would return both active and committed transactions in all the undo segments in the database.

It would return information regarding the transactions that began and were committed in the last 30
minutes.

moow»

Correct Answer: D

QUESTION 13

You are working in an online transaction processing (OLTP) environment. You used the FLASHBACK
TABLE command to flash back the CUSTOMERS table. Before executing the FLASHBACK TABLE
command, the System Change Number (SCN) was 663571. After flashing back the CUSTOMERS table,
you realize that the table is not in the correct state and the resultant changes are not what you had desired.
So, you need to reverse the effects of the FLASHBACK TABLE command while ensuring that:

A. No other user data in the database is affected.
B. The operation takes the minimum possible time.

Which option would you choose?

A. use the ROLLBACK command with SCN 663571

B. perform Flashback Transaction Query with SCN 663571

C. execute the FLASHBACK DATABASE statement to retrieve the CUSTOMERS table as it was at
SCN 663571

D. execute another FLASHBACK TABLE statement to retrieve the CUSTOMERS table as it was at
SCN 663571

Correct Answer:

QUESTION 14
You have created a resource plan, PROD_DB_PLAN, that uses the RATIO policy. The following consumer
groups and their respective plan directives have been assigned to this resource plan:

Consumer group HIGH_CG with CPU_P1 as 10.
Consumer group MEDIUM_CG with CPU_P1 as 5.
Consumer group LOW_CG with CPU_P1 as 2.
Consumer group OTHER_GROUPS with CPU_P1 as 1.

Which statement is correct in this scenario?

A. The plan PROD_DB_PLAN can have subplans.

B. The members of the HIGH_CG consumer group would get 10% of the CPU.

C. The CPU allocation for the consumer groups would be based on the ratio defined for the CPU_P1.
D

. The CPU allocation would be equal between the HIGH_CG and MEDIUM_CG consumer groups if
there are no sessions existing for the LOW_CG and OTHER_GROUPS consumer groups.

Correct Answer: C

QUESTION 15
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You want to create a consumer group, GROUP1, and you execute the following command in the
command-line interface:

SQL> EXEC DBMS_RESOURCE_MANAGER.CREATE_CONSUMER_GROUP
(CONSUMER_GROUP =>'group1', COMMENT => 'New Group");

This command errors out displaying the following message:

ERROR at line 1:

ORA-29371: pending area is not active

ORA-06512: at "SYS.DBMS_RMIN", line 115

ORA-06512: at "SYS.DBMS_RESOURCE_MANAGER", line 108
ORA-06512: at line 1

What action would you take to overcome this error?

A. create the Pending Area before creating the consumer group

B. activate the Pending Area before creating the consumer group

C. increase the size of the large pool to accommodate the Pending Area

D. increase the size of the shared pool to accommodate the Pending Area

E. increase the size of the database buffer cache to accommodate the Pending Area

Correct Answer: A

QUESTION 16
You are working on an Oracle Database 10g database. You enabled the Flashback Database feature.
Which two statements regarding flashback logs are true? (Choose two.)

A. Flashback logs are not archived.

B. Flashback logs are maintained in redo log files.

C. Flashback logs are maintained in the Flash Recovery Area.

D. Flashback logs are used to maintain Flashback Databaserelated errors.

E. Flashback logs need to be cleared manually after you disable Flashback Database.

Correct Answer: AC

QUESTION 17

You are connected to Recovery Manager (RMAN) without a recovery catalog. There is no copy of the
control file available. You want to restore the control file from an autobackup. To retrieve the autobackup,
you need the database ID (DBID). In which two sources would you find the DBID? (Choose two.)

the trace file

the alert log file

an RMAN session log file

the server parameter file

the formatted name of a control file autobackup

moowy

Correct Answer: CE

QUESTION 18
You executed the following command in Recovery Manager (RMAN) against your Oracle 10g database:

RMAN> REPORT NEED BACKUP days 3;

What would be the output of this command?

A. alist of files that require a backup within three days
B. alist of files that have not been backed up for three days
C. allist of files that RMAN recommends be backed up only once in every three days, based on low
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volatility
D. alist of files for which a backup has already been performed and may need a backup after three days

Correct Answer: B

QUESTION 19
You have created a job class, CUST_JOB_1, with two jobs, CUST_JOB_1_A and CUST_JOB_1_B.
Which two statements are true? (Choose two.)

A. Both the jobs would be executed concurrently.

B. Jobs in the job class must have been assigned the same priority.

C. The member jobs would get dropped when the job class is dropped.

D. The member jobs would get disabled when the job class is dropped.

E. The attributes defined at the class level would be applied to both the jobs.

Correct Answer: DE

QUESTION 20

When you start the database instance, it does not open after reaching the mount state. The initialization
parameter DB RECOVERY_FILE _DEST_SIZE is set to 2 GB. The archive destination for the database is
setto USE_DB_RECOVERY_FILE_DEST. While opening the database by using the ALTER DATABASE
command, you receive the following error:

ERROR at line 1:
ORA-16038: log 1 sequence# 1535 cannot be archived
ORA-19809: limit exceeded for recovery files

Which is the operation after which you can open the database successfully?

A. Delete the obsolete files in RMAN after running the CROSSCHECK command.
B. Delete unnecessary files from the Flash Recovery Area by using an OS command.

C. Delete unnecessary files from the Flash Recovery Area by using an OS command, and then use
RMAN to delete the expired files after running the CROSSCHECK command.

D. Delete unnecessary files from the Flash Recovery Area by using an OS command, and then run the
RESYNC command in RMAN.

Correct Answer: D

QUESTION 21
In which two situations would you prefer to use a hash cluster? (Choose two.)

A. Evenly distributed key values are present in the table.

B. The applications occasionally use queries joining tables.

C. The data retrieval has to be in the order in which it was inserted.

D. The applications frequently modify a cluster key value in a constantly growing table.
E. The application frequently uses queries with an equality predicate on the cluster key.

Correct Answer: AE

QUESTION 22

The warning and critical threshold values have been set to 85% and 97%, respectively, for one of the
tablespaces. The current tablespace space usage is 54%. You modify the warning threshold to be 50%
and critical threshold to be 53% in Database Control. Which statement is true?

A. The new setting would be applied but no alerts would be raised immediately.
B. The new setting would be applied and an alert would be raised immediately.

C. The new setting would be ignored because the tablespace space usage is more than the specified
threshold value.
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D. The new setting would cause an error because the tablespace space usage is more than the specified
threshold value.

Correct Answer: A

QUESTION 23

You have decided to perform a full database export to check the consistency of a database. Which two
statements are true regarding the limitations of this method in detecting database corruption?(Choose
two.)

A. It does not detect index block corruptions.

B. It detects block corruptions in used as well as free extents.

C. It does not detect all the block corruptions in the SYSTEM tablespace.

D. It detects logical and physical block corruptions only when Direct path export is used.

Correct Answer: AC

QUESTION 24

You decided to use the Flashback Drop feature to recover a dropped table called EMPLOYEES. There is
no other table with the same name existing in the schema. You query the RECYCLEBIN and get the query
output as displayed below:

SQL> SELECT OBJECT_NAME, ORIGINAL_NAME, DROPTIME FROM RECYCLEBIN;

OBJECT_NAME ORIGINAL_NAME DROPTIME

BIN$/
mODrBVORFGOAA53dC+FPw==$0 EMPLOYEES 2007-04-09:11:08:55 BIN$2DelssLeQTqgH/
n80RmM2JQ==$0 EMPLOYEES 2007-04-09:11:11:38 BIN$UugroNodQy6ouDtaA+XOVw==$0
EMPLOYEES 2007-04-09:11:08:18

You then issue the following statement to recover the table:

SQL> FLASHBACK TABLE EMPLOYEES TO BEFORE DROP;
What would be the outcome of the above statement?

A. It retrieves the latest version of the table from the RECYCLEBIN.
B. It retrieves the oldest version of the table from the RECYCLEBIN.

C. ltreturns an error because the system-generated table name in the OBJECT_NAME column should
have been specified as the table name.

D. It returns an error because the RENAME option should have been specified to convert the system-
generated name of the retrieved table to the original name.

Correct Answer: D

QUESTION 25
You executed the following command in Recovery Manager (RMAN):

RMAN> RESTORE CONTROLFILE;

Which operation must you perform before this command is executed?

A. back up the control file to trace
B. bring database to the MOUNT state

C. open a connection to the RMAN recovery catalog, which contains the RMAN metadata for the target
database

D. set the database ID (DBID), but only if the DB_NAME parameter associated with the target database is
unique in the recovery catalog

Correct Answer: C
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QUESTION 26
You want an ASM instance to manage the files of your database. To achieve this objective, you specify the
following parameters in the parameter file of the database:

INSTANCE_TYPE = RDBMS
DB_NAME = PROD

LARGE_POOL_SIZE = 8MB

DB_BLOCK_SIZE = 4K

LOG_ARCHIVE_DEST = +dgroupA
LOG_ARCHIVE_FORMAT = "$ORACLE_SID_%s_%t.%t"
DB_CREATE_FILE_DEST = +dgroupA

COMPATIBLE = 10.1.0.2.0

CONTROL_FILES = +dgroupA

Which parameter would be ignored while starting up the instance for the database PROD?

DB_BLOCK_SIZE
CONTROL_FILES
LARGE_POOL_SIZE
LOG_ARCHIVE_DEST
LOG_ARCHIVE_FORMAT
DB_CREATE_FILE_DEST

mmoow>»

Correct Answer: E

QUESTION 27
View the Exhibit.

You have more than one table in the recycle bin having the same original name, DEPT2. You do not have
any table with the name DEPT2 in your schema. You executed the following command:

PURGE TABLE dept2;

Which statement is correct in this scenario?

SOL» SELECT original_name, droptime,. dropsch
2 FROM dba_recyclebin
2 (0RIER BY dropsch:

ORIGIMAL _MAME DROPTIME DROPSCH
LEPT2 2004-03-11:04:17:59 1928151
LEFTZ 2004-08-11:06:39:57 1934739
DEFTZ 2004-08-11:07:25:13 1937123
A. All the tables having the same original name as DEPT2 will be purged from the recycle bin.
B. The table with dropscn = 1928151 (oldest dropscn) will be purged from the recycle bin.
C. The table with dropscn = 1937123 (most recent dropscn) will be purged from the recycle bin.
D. None of the tables will be purged because there are multiple entries with the same original name in the

recycle bin.

Correct Answer: B

QUESTION 28

You are working on an Oracle Database 10g database that operates in the ARCHIVELOG mode. At
06:00 p.m., you discovered that a table in the SYSTEM tablespace that does not belong to the data
dictionary was dropped at 03:00 p.m. What would you do to recover the table?

A. perform point-in-time recovery to recover the table
B. recover the table by using the Flashback Table feature
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